Chapter 7
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see the solution
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(a) 9.00 kJ; (b) 11.7 kJ, larger by 29.6%
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P7.22
(a) 
[image: image6.wmf]12

mgmg

kk

+

; (b) 
[image: image7.wmf]1

12

11

kk

-

æö

+

ç÷

èø


P7.24
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[image: image8.wmf]5.00 ms

; (c) 6.30 J
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(a) 60.0 J; (b) 60.0 J
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; (d) 1.94 ns
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(a) 329 J; (b) 0; (c) 0; (d) 185 J; (e) 144 J
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(a) 5.91 kW; (b) 11.1 kW
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(b) see the solution
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see the solution
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(a) see the solution; 
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(a) see the solution; (b) 
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(c) 13.1 N
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(a) 5.60 J; (b) 0.152; (c) 2.28 rev
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see the solution
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(a) 2.17 kW; (b) 58.6 kW
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